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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 7 rFkk iz'u 24 gSaA 
 Please make sure that the printed pages in this question paper are 7 in number and 

it contains 24 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU; funsZ'k %; funsZ'k %; funsZ'k %; funsZ'k %    

 (i) lHklHklHklHkhhhh    iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

 (iii) iz'uksa ds mÙkj muds vadkuqlkj nsaA  

 (iv) iz'u la[;k 24    fo'ofo'ofo'ofo'o ds ekufp= dks Hkjus ls lacaf/kr gSA 

 (v) fo'o ds ekufp= dks Hkjdj viuh mÙkj&iqfLrdk ds chp etcwrh ls ck¡f/k,A 

 (vi) ekufp= ij viuh mÙkj&iqfLrdk dk Øekad vo';vo';vo';vo'; fy[ksaA 

General Instructions :    

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it.  

 (iii) Answer the questions according to their marks. 
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 (iv) Question No. 24 is related to filling the outline map of the World. 

 (v) After filling the map of the World it should be securely tied in the middle of 

the answer-book. 

 (vi) You must write your Answer-book Serial No. on the map. 

  1. fxzfQFk Vsyj us fuEufyf[kr eas ls fdu fopkjkas@vo/kkj.kkvksa dks yksdfiz; cuk;k \ 1 

 (A) laHkkoukokn (B) fu;rRookn 

 (C) uo&fu;rRookn (D) {ks=h; HksnHkko 

 Griffith Taylor popularized which of the following ideas/concepts ? 

 (A) Possibilism (B) Determinism 

 (C) Neo-determinism (D) Areal Differentiation 

  2. fuEufyf[kr esa ls fdl {ks= eas okf.kfT;d O;kid vukt dh [ksrh ughaughaughaugha dh tkrh \  1 

 (A) vesfjdh dukMkbZ izsjht+ (B) ;wjksih; LVsiht+ 

 (C) vts±Vhuk ds iEikl (D) vest+u csflu 

 In which of the following regions is extensive commercial grain cultivation not 

practised ? 

 (A) American Canadian Praries (B) European Steppes 

 (C) Pampas of Argentina (D) Amazon Basin 

  3. fuEufyf[kr eas ls dkSu&lk O;olk; prqFkZd {ks= ls lEcfU/kr gS \ 1 

 (A) fofuekZ.k dEI;wVj  (B) dkxt vkSj dPph yqxnh mRikn 

 (C) fo'ofo|ky; f'k{k.k (D) fdrkcsa Nkiuk 
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 Which one of the following activities is related to quaternary sector ? 

 (A) Manufacturing computers 

 (B) Paper and raw pulp production 

 (C) University teaching  

  (D) Printing books 

  4. lcls vf/kd ?kuRo okyk jsyos usVodZ fdl ns'k eas gS \ 1 

 (A) czkt+hy  (B) ;w ,l , 

 (C) dukMk (D) :l 

 Which country has the highest density of railway network ? 

 (A) Brazil (B) USA 

 (C) Canada (D) Russia 

  5. Hkkjr eas igyh tula[;k tux.kuk dc vk;ksftr gqbZ Fkh \  1 

 (A) 1901 esa (B) 1872 esa 

 (C) 1857 esa (D) 1906 esa 

 The first Population Census in India was conducted in : 

 (A) 1901 (B) 1872 

 (C) 1857 (D) 1906 

  6. tula[;k Hkwxksy ls vkidk D;k vfHkizk; gS \ 1 

 What do you mean by Population Geography ? 
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  7. fo'o eas dk;Zjr tula[;k dk vk;q oxZ D;k gS \ 1 

 What is the age group of the working population in the World ? 

  8. fyaxkuqikr dc izfrdwy gksrk gS \ 1 

 When is sex-ratio unfavourable ? 

  9. 2001 dh tux.kuk ds vuqlkj] Hkkjr esa tula[;k dk vkSlr ?kuRo fdruk Fkk \ 1 

 What is the average density of population in India as per 2001 Census ? 

10. v'kksf/kr e`R;q nj ls vki D;k le>rs gSa \ 1 

 What do you mean by crude death rate ? 

11. ekuo fodkl ds izeq[k {ks=kas dh O;k[;k dhft,A 2 

 Explain the key areas of human development. 

12. ekuo cLrh dk D;k vFkZ gS \ 2 

 What is a Settlement ? 

13. Hkkjr eas tula[;k dk ?kuRo izR;sd Øfed tux.kuk esa D;ksa c<+ jgk gS \ 2 

 Why the density of population in India is increasing in every successive census ? 

14. iznw"k.k dh igpku ds fy, mi;ksx fd, tkus okys ekunaMksa dk mYys[k dhft,A 2 

 Mention the criteria used for indentifying pollution. 

15. tula[;k ds forj.k dks izHkkfor djus okys fdUgha rhurhurhurhu vkfFkZd dkjdksa dh mnkgj.k lfgr O;k[;k dhft,A 3 

 Explain with example of any three economical factors which influence the 

distribution of population. 
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16. fodkl'khy ns'kkas eas 'kgjh cfLr;ksa ls tqM+h leL;kvksa dh foospuk dhft,A 3 

 Discuss the problems associated with the urban settlements in developing 

countries. 

17. Hkkjr esa izokl ls tqM+s fdUgha ik¡pik¡pik¡pik¡p vkfFkZd ifj.kkeksa dh O;k[;k dhft,A 3 

 Explain any five economic consequences associated with migration in India. 

18. ok;q iznw"k.k ds fdUgha rhurhurhurhu lzksrksa dh O;k[;k dhft,A 3 

 Explain any three sources of air pollution. 

19. vU/k&egklkxj ekxZ dk o.kZu dhft,A 5 

 Describe the Atlantic Ocean Routes. 

20. ^js[kh;* vkSj ^o`Ùkkdkj* cfLr;ksa eas vUrj Li"V dhft,A 5 

 Distinguish between 'Linear' and 'Circular' settlements. 

21. dikl dh [ksrh ds fodkl ds fy, vuqdwy HkkSxksfyd ifjfLFkfr;ksa dk laf{kIr fooj.k nhft,A Hkkjr eas 
dikl ds mRiknu rFkk forj.k dk o.kZu dhft,A 5 

 Give a brief account of favourable geographical conditions for the growth of 

Cotton cultivation. Describe the production and distribution of Cotton in India. 

22. Hkkjr ds ik¡pik¡pik¡pik¡p izeq[k vkS|ksfxd ladqy dkSu&ls gSa \ gqxyh vkS|ksfxd {ks= eas enn djus okys fdUgha rhurhurhurhu 
dkjdksa dk o.kZu dhft,A 5 

 Name five major industrial clusters of India. Analyses any three locational 

factors which helped in the development of Hooghly industrial region. 

23. fo'o esa lM+d ifjogu ds xq.k vkSj nks"kksa dh O;k[;k dhft,A 5 

 Explain the merits and demerits of Road Transport in the World. 
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24. fn, x, fo'ofo'ofo'ofo'o ds js[kk-ekufp= ij fuEufyf[kr dks vafdr dhft, % 1 × 5 = 5 

 Show the following on the given outline map of the World : 

 (i) f'kdkxks 

  Chicago 

 (ii) dsiVkmu 

  Cape Town 

 (iii) Hknzkorh 

  Bhadravati 

 (iv) >fj;k 
  Jharia 

 (v) psUubZ 

  Chennai 
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